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	According to the prose when testing the Largest UL RLC PDU size, 
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	Summary of change:
	Created new test step ts_RxAM_PRBS_Flexi_r8_CheckLI_HE and called this new test step ts_RxAM_PRBS_Flexi_r8_CheckLI_HE. The test step is modified to receive 

the first PDU via lt_CheckRxAM_PRBS.

The subsequent PDUs are first handled via lt_ReceiveRxAM_PRBS_First ->lt_RxPDU  and then checked against the expected data and the length 

In lt_ReceiveRxAM_PRBS_First the check is done to 

ensure that the received PDU data matches the expected data.
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2 Corrections to Rel-8 MAC-i/is test case 7.2.3.38
2.1 tc_7_2_3_38
	Object name 
	tc_7_2_3_38 : lt_LocalTest

	Reason for change
	According to the prose when testing the Largest UL RLC PDU size, 
the UE shall return 4 RLC SDUs with the same content as the transmitted SDUs. The size of the fist AMD PDU shall be equal to “Largest UL RLC PDU size”, the subsequent AMD PDUs shall be between minimum UL PDU size and Largest UL RLC PDU size, and the last AMD PDU shall be less than the Largest UL RLC_PDU size.

The current implementation restricts the reception of RLC data with a specific RLC data length for subsequent PDUs.

	Summary of change
	 Created new test step ts_RxAM_PRBS_Flexi_r8_CheckLI_HE and called this new test step ts_RxAM_PRBS_Flexi_r8_CheckLI_HE. The test step is modified to receive 

the first PDU is via lt_CheckRxAM_PRBS.

The subsequent PDUs are first handled via lt_ReceiveRxAM_PRBS_First ->lt_RxPDU  and then checked against the expected data and the length 
In lt_ReceiveRxAM_PRBS_First the check is done to 

ensure that the received PDU data matches the expected data.

ensure that the length is between the minimum and maximum PDU

ensure that the last PDU can be less that the largest AM PDU (i.e. also less than the minimum PDU size)

	Module
	

	Label
	WA#
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+5_85_E_DCH_MACIs_Config_SI_Report
(tov_SDU_Size = 80,
tev_RLC_RuDataSize = 320,
tev_RLC_TuDataSize = 0)
+15_TAM_15_18_Confiy

REPEAT i_Tx UNTIL [tev_RLC_TxDataSize = 320]

CMAG?CMAC_MACiS_SI_IND

+15_88_E_DCH_SendAG_MACI(
tsc_NadeB_1, tsc_Cella,
3,activateNiow: NULL)

(iov_RLC_Flexi_UL_RevdDataize = 40, tov_AM_Flexi_PDUSize_r8 = 42)

REPEAT ts_RM_PRBS_Flex_r8_HE UNTIL [tev_RLC_RxDataSize = 0]
TH I Tustatus

+15_88_E_DCH_SendAG_MACI(
tse_NodeB_1, tsc_Cells,
1,activateNiow: NULL)
+s_RRC_Delay (100)
(tev_SDU_Size = 80,
tov_RLC_RuDataSize = 320,
to_ RLC_TuDatasize = 0,
te_FirstPDU_t8 = FALSE)
REPEAT I_Tx UNTIL [(iev_RLC_TxDatasize »= 320) AND (itv_RLC_TxDatasize <= 640)]

CMAC?CMAC_MACiS_SI_IND

+15_88_E_DCH_SendAG_MACI(
tse_NodeB_1, tsc_Cella,
5,activateNiow: NULL)
(icv_RLC_Flexi_UL_RevdDataize = 80, tov_AM_Flexi_PDUSize_r8 = 82)
REPEAT ts_RéAM_PRES_Flex_ra_LI_HE UNTIL [iov_RLC_RkDataSize = 0]

TH I Tustatus

©a_CMAC_MACIs_SI_IND(2,2,NT_TO_BIT(tsc_UL_DTCH1,4
»

cas_StatusRen(
tsc_RB_DTCH_E_DCH_MAC1,
©5_BF_Ack(cv_AM_VRR),
1)

©a_CMAC_MACIs_SI_IND(2,2,NT_TO_BIT(tsc_UL_DTCH1,4
»

cas_StatusRen(
tsc_RB_DTCH_E_DCH_MAC1,
©5_BF_Ack(cv_AM_VRR),
1)

®

®

@sic 55150880 51c@

Step 3==> First set of 4 PDUS with 80 octets each transmi
tied by 55

@sic 55150880 5ic@

step 4

@sic 55150880 5ic@

step5

RLC SDU Size = 40
RLC PDU Size = 40 + 2 (AM heatler)
step 6

@sic 55150880 51c@

step 7

@sic 55150880 51c@
@sic 55150880 51c@

step 8==>Second setof 4 PDUs with 80 octets sach tran
smitted by 55

step 9

@sic 55150880 5ic@

step 7

In'step 11, the UE shall retum 4 RLC 8DUs with the same
content as the transmitied SDUs. The size of the fist AND
FDU shall be squal to"Largest UL RLC PDU size", the s
ubsequent AMD PDUS shall be between minimurm UL P
DU size and Largest UL RLC PDU size, and the last AMD
FDU shall be less than the Largest UL RLC_PDU size
@sic 55150880 5ic@

@sic 55150880 51c@
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+5_85_E_DCH_MACIs_Config_SI_Report
(tov_SDU_Size = 80,
te_RLC_RxDatasize
tev_RLC_TiDatasize
+15_TAM_15_18_Confiy
REPEAT i_Tx UNTIL [tev_RLC_TxDataSize = 320]

CMAG?CMAC_MACiS_SI_IND

+15_88_E_DCH_SendAG_MACI(
tsc_NadeB_1, tsc_Cella,
3,activateNiow: NULL)

(iov_RLC_Flexi_UL_RevdDataize = 40, tov_AM_Flexi_PDUSize_r8 = 42)

REPEAT ts_RM_PRBS_Flex_r8_HE UNTIL [tev_RLC_RxDataSize = 0]
TH I Tustatus

+15_88_E_DCH_SendAG_MACI(
tse_NodeB_1, tsc_Cells,
1,activateNiow: NULL)
+s_RRC_Delay (100)
(tov_SDU_Size
tov_RLC_RuDataSize = 320,
to_RLC_TiDatasize
te_FirstPDU_t8 = FALSE)
REPEAT I_Tx UNTIL [(iev_RLC_TxDatasize »= 320) AND (itv_RLC_TxDatasize <= 640)]

CMAC?CMAC_MACiS_SI_IND

+15_88_E_DCH_SendAG_MACI(
tse_NodeB_1, tsc_Cella,
5,activateNiow: NULL)

oy R RO ot =

REHEATts_RiAM_PRES_Flex_16_CheckLl HE UNTIL [ioy_RLC_RiDatasize = 0]

TH I Tustatus

©a_CMAC_MACIs_SI_IND(2,2,NT_TO_BIT(tsc_UL_DTCH1,4
»

cas_StatusRen(
tsc_RB_DTCH_E_DCH_MAC1,
©5_BF_Ack(cv_AM_VRR),
1)

©a_CMAC_MACIs_SI_IND(2,2,NT_TO_BIT(tsc_UL_DTCH1,4
»

cas_StatusRen(
tsc_RB_DTCH_E_DCH_MAC1,
©5_BF_Ack(cv_AM_VRR),
.y

®

®

@sic 55150880 51c@

step 3==> First set of 4 PDUs with 80 octets each transmi
tied by 55

@sic 55150880 5ic@

step 4

@sic 55150880 5ic@

step5

RLC SDU Size = 40
RLC PDU Size = 40 + 2 (AM heatler)
step 6

@sic 55150880 51c@

step 7

@sic 55150880 51c@
@sic 55150880 51c@

step 8==>Second set of 4 PDUS with 80 actets each tran
smitted by 55

step 9

@sic 55150880 5ic@

step 7

In'step 11, the UE shall retum 4 RLC 8DUs with the same
content as the transmitied SDUs. The size of the fist AND
FDU shall be squal to"Largest UL RLC PDU size", the s
ubsequent AMD PDUS shall be between minimurm UL P
DU size and Largest UL RLC PDU size, and the last AMD
FDU shall be less than the Largest UL RLC_PDU size
@sic 55150880 5ic@

Wa#7_2_3_38

@sic 55150880 51t @





New test step

[image: image3.png][TestSten 10 ts_RoAM_PRBS_Flex_r8_CheckL|_ HE
Test Step Group Ref. Imp_L2_UL_Rs/

This test step is called repeatedly until 2 SDUS consisting of different numbers of PDUS have been received
‘The RLC PDUS either contain only data plus the indication of data in the HE field,
or only data plus the indication of special HE in the HE field to indicate the last part of an RLC SDU.

Test case variables required.

tov_RyPRBS_Pos must be setto the required start position in the PRBS for the data to be received.
ty_AM_VRR must contain the SN afthe next A RLC PDU to be received.

te_SDU_Size contains the RLC SDU size applied

Test case variables affectedt
to_AM_Ry_Data and tov_AMD_PDU are used as temporary working variables by this test step.

tov_RLC_RxDataSize iniially indicates the SDU size and s dectemented il 0
Defaults: RLC_Default
Camments: See ts_GetRuAM_PRBS for parameter descriptions, and variables affected
@sic 55150880 sic@
\WA#7_2_3_38 Newtest step o receive the message and checkthe contents

Objective: This test step is used to receive a single AMD RLC PDU containing pseuda random data, and using 7 bit length indicators.

tov_AM_VRR s incremented by 1 modulo 128 by this test step to contain the expected SN of the next PDU to be received

T Seavour Desorpton

[ JI Caonstraint Ref JLJI Comments
1 tev_FirstPDU_rs = FALSE] 15tPDU has notyet been received
2 (ev_FirstPDU_r8 = TRUE) note that 15t PDU has been received
3 (tov_RLC_Datalen = (cv_AM_Flex_PDUSize_r8-2)) determine RLC data length to be received
4 +Ht_CheckRxM_PRBS
5 (tev_SDU_Size = 80 -tcv_RLC_Datalen)
6 tev_FirstPDU_r8 = TRUE]
7 +Ht_ReceiveRxAM_PRBS_First
8 [TRUE] | This should not happen
It_CheckRxAM_PRES
a +s_GetRuAM_PRBS(tev_RLC_DataLen ) 1
10 +Ht_RxPDU 2
1 +Ht_CheckRxHeader
12 tev_AM_RxData.data = tov_AMD_PDU.data] (F) Data as expected
13 (tov_RLC_RxDataSize = tov_RLC_RxDataSize - tov_RLC_DataLen) i

@sic R55150880 sic@
14 [TRUE] (F) Data does not match




[image: image4.png]_RxPDU
15 [TRUE]
16 RX1 | TH ? ReAND

(1ov_AMD_PDU = RUAMD data )

17 THH 7 RAAMD.
(1v_AMD_PDU = RXAMD data )

18/T8 | TM? ReAMD (tov_AMD_PDU = ReAMD.data)

Ft
19 T ? R@tatus
20 6OTO RXI
It_ReceiveRyAN_PRES._First
2 +I_RXPDU
2 +It_CheckRxHeader
23 (icv_RLC_Datalen = (LENGTH_OF (icv_AMD_PDU data))
24 (1tv_RLC_RyDataSize = toy_RLC_RyDatasize - toy_RLC_Datalen)
25 +1s_GetRyAN_PRBS(toy_RLC_Datalen)
26 tev_AM_RxData.data = toy_AMD_PDU.data]
27 [tev_RLC_Datalen >= (40) AND (cv_RLC_DataLen <= (80)]
28 [TRUE]
29 tev_RLC_RDataSize = 0]
£l [TRUE]
El [TRUE]
H_CheckRxHeader
22 +t_CheckRxaN
33 +ts_Incrementam_VRR
H_CheckRxaN
34 [tey_AMD_PDU.seaNurm =
INT_TO_BIT({cv_AM_VRR, tsc_AM_SN_Size )]
35 T8 |[TRUE]

F2

car_Datalnd(
tse_RB_DTCH_E_DCH_MACT,
er_AMD_LIs_HE(
2

7
(1sc_HE_Data, tsc_HE_8pecial),
oM,

)

car_Datalnd(
tse_RB_DTCH_E_DCH_MACT,
er_AMD_LIs_HE(

2

7

tse_HE_LI,
©_Lis1 18BILID),
)

car_Datalnd(
tsc_RB_DTCH_E_DCH_MACT,
cr_AMD_any)

car_Statusind(
tsc_RB_DTCH_E_DCH_MAC1 )

®

®
®

®
®

®

5
toy_AM_RiData data

5
toy_AM_RiData data

Data as expected
Length ofthe PDU is withing the min ... max range
Length ofthe PDU is notwithin the min ... max range
Last PDU can be less than min range

Length ofthe FDU does not match.

Data does not match.





